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145.5 0 145. 100 7.00 3. 00 1.

Koy R Ry 7.00 3. 50 2. 60 3. 100. 0.0 5,262. 0|7 27 7 L ~adLE
145. 6 0 145. 100 7.00 3. 20 1.

Koy R Ry 7.00 3. 00 2. 40 2. 100. 0.0 5,362. 0|7 27 7 L~k
145. 7 0 145. 100 7.00 3.10 1.

Koy R Ry 7.00 3.20 2.16 2. 100. 0.0 5, 462. 0|7 2 7 7 L ALk
145. 8 0 145. 100 7.00 3.08 1.

Koy RR oy 7.00 3.25 2.00 1. 100. 0.0 5,562. 0|7 27 7 L ALk
145.9 0 145. 100 7.00 3. 50 1.

Koy R Ry 7.00 3. 00 2.00 1. -62. 0.0 5,649. 0|7 2 7 7 L ~afLE
146. 0 0 146. 87 7.00 3. 00 1.

Koy R Ry 7.00 3. 00 6. 00 1. 124. 0.0 5,798.0|7 27 7 /L ~afk
146. 0 87 146. 36 7.00 3. 50 0.

Koy R KRy 7.00 3. 00 14. 50 1. 151. 0.0 5,949. 0|7 2 7 7 L Ak
146. 2 36 146. 100 7.00 3. 00 1.

Koy R KRy 7.00 3. 00 0. 00 1. 100. 0.0 6,049. 07 2 7 7 /L itk
146. 3 0 146. 100 7.00 3. 00 1.

Koy R Ry 7.00 3. 00 0. 00 1. 0.0 6,071.0[7 27 7 /L etk
146. 4 0 146. 22 7.00 3. 00 1.

Koy R KRy 7.00 2. 50 0. 00 0. -953. 1,031.0 6, 149. 0|7 2 7 7 /L |k
146. 4 22 146. 100 7.00 3. 50 0.

Koy R Ry 7.00 2.50 0. 00 0. 100. 0.0 6,249. 07 2 7 7 /L itk
146. 5 0 146. 100 7.00 3. 50 0.

Koy R R 7.00 2.50 0. 00 0. 100. 0.0 6, 349. 07 2 7 7 /L itk
146. 6 0 146. 100 7.00 3. 50 0.

Koy R KRy 7.00 2. 50 0. 00 0. 100. 0.0 6, 449. 0|7 2 7 7 )L |tk
146. 7 0 146. 100 7.00 3. 50 0.




I

P
R
A4 0 0010 P
B
(BB o, BT OMD m HENNIE R P& 1 O FEIA
HOGE | B PER S
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147. 6 147. 100 7. 3. 00
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147.7 147. 100 7. 3. 00
Koy R Ry 7. 3. 00 2.00 100. 100. 7,549. 0|7 27 7 L ALk
147. 8 147. 100 7. 3. 00
KAy RS 7. 3.00 2.00 100. 100. 7,649. 0|7 A 7 7 )L hafidk
147.9 147. 100 7. 3. 00
Koy R KRy 7. 3. 00 2.00 100. 100. 7,749. 0|7 27 7 L hafE
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Koy WKy 7. 00 3. 00 2. 00 100. 0 0. 100. 7,849.0[ 7 =2 7 7 v ik
148. 1 148. 100 7.00 3. 00

Koy WK orih 7.00 3. 00 2. 00 100. 0. 100. 7,949. 0| 7 =2 7 7 v ik
148. 2 148. 100 7.00 3. 00

Koy WKl 7.00 3. 00 2. 00 100. 0. 100. 8,049. 0|7 A7 7 )L sk
148. 3 148. 100 7.00 3. 00

Koy WK orih 7. 00 3. 00 2. 00 22. 0. 22. 8,071. 0|7 A7 7 )L sk
148. 4 148. 22 7.00 3. 00

Koy WK orih 7.00 2.75 0. 00 7. 104. 97. 8,168.0|7 A7 7 )L Fafdk
148. 4 148. 19 7.00 2.75

Koy WK orih 7.00 3. 60 2. 00 81. 0. 81. 8,249. 0|7 A7 7 )L Madk
148. 5 148. 100 7.00 4. 10

Koy WRKRSrh 7. 00 3. 60 2. 00 100. 0. 100. 8,349. 0|7 A7 7 )L Madk
148. 6 148. 100 7.00 4. 10

Koy WK orih 7.00 4. 00 2. 50 100. 0. 100. 8,449. 0|7 A 7 7 )L Fadk
148. 7 148. 100 7.00 3.90

Koy WKy 7.00 4. 00 2. 50 113. 0. 113. 8,562. 0|7 A7 7 )L Nadk
148. 8 148. 13 7.00 4. 00

KAFTEKSy 7.00 0. 00 2.50 49. 0. 49, 8,611.0|7 27 7 /L kit
148. 9 148. 62 7.00 4. 00
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* 3.5] 0.0 1.8 HA AT

/N AR A FETRFILIA 17.0[ 3.5 0.0 1.8 178.5| P C#% ERE34E | TT - 43 [W@ITHIR #EL
* 3.5 0.0 1.8 HAAiAT

DU H T & 24 FETRFILA 27.5| 3.5 0.0] 1.8 288.8| P CH ER3tE |TL - 20 [@ITHIR #L
ETRFILAR 3.50 0.0/ 1.8 AT

ILWARE T T RFILAR 12.5 0.0 0.0l 0.5 180.8| P C#% SERGA4E | TL - 20 |WfTHIR ML
FETRFIA 10.3] 0.0 1.5 AT

AR B FETRFILA 12.5( 10.3] 0.0] 1.5 162. 9| P CH& ERi44E | TT - 43 [@ITHIR #EL
* 0.0] 0.0 0.5 AT

TR LA Koy BRFVTRFIIA 32.00 3.5 0.0/ 1.8 336.0| P CH& ERE6E | TL - 20 [WITHIR #EL
Ky BT RTFIIA 3.5] 0.0 1.8 AT

KIEE RETRFAKE 149.0[ 0.0] 0.0 0.5 1,750.8|P CHE RS | BIGATE  [@ITHIR ML
* 7.0l 3.5/ 0.8 AT
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* 0.0] o0.0f 1.5 AT
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* 0.0] 0.0 o.5 AT
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